
Membrane

• In the heating system the water will return closed  
 way with closed expansion vessel but in open   
 expansion tank the water will work with water and  
 air and this makes rust in the system

• Open expansion tank you need so much workship for  
 montage because you need piping to roof and you  
 need izolation for pipes and you will lose so much  
 energy for to do this. But in closed expansion vessel  
 you can montage near to heating system. 

• Open expansion tank you will lose water because of  
 steaming but in closed expansion tank you will not  
 lose water because of steaming

Utilities of Closed Expansion Tank 
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